20

19. @aﬁmﬁaﬁmm

Aqrer wfeet ™
. &. Tt smgw 9. Irfres vk fe
W. ErHEan ATANTH e . TR EEER SE ’
. Wl mefes EN 6 e S
R CICES PLRCIR DI Rl ER ¥, eioER wuE
L BB E
A R 3 ¥ 9k
B. 3 9 R ¥
(SR, R ¥ 3
D. R 9 3 ¥ .
20. wom favage T T YEieEs! afy M ... T TR T |
A. ST, 9R9R FA 3G ' : B. W, RIRTTN
C. W, RIR Fi35 - D. “HA, R FAR5
21. Have you any idea.....c..ccceeeereieennennnanennns
A. when the bank closes ' B. when closes the bank
C. when does the bank close - "D.  when does close the bank
77 AR e R us, if we requested ? » 1 3
A. willyouhelp ~ B. changed C. will change D. will have changed -
23. Which op.tion best defines the word : HAUGHTY : :
A mentally anguished : - B. arrogantly superior
C. charmingly polite ; D. nobly aristocratic. -
24 TIREET Sl TROTES T -5 7 ' :
F.  AAETH G TSTa-Ih! TG
g FRfrew gy ufEda
. e v T :
A wmlEEA B. ®IMA®  C. WIMHA D. Wi ES
25. - wifefcre Ffa T T Ser qosTe) |1 e o 2
A. s v ~ TS MY : .
B. WM Sk S
C. SUMR IR - AT
D. HFIEH ~ AR FFA
T . 26 V27 ® S aat RRewan gHeear sire oy fager :
. Ao Hfaum o iR0eR - 3. wffafy T T AR
@, AU iR wfayE ii. 0¥ . 3. Tfegd TeurE
i 2098 3. waffy e T ufiga g
: iv. R094 2t
26. A, F - iii- 3. 'B. @-iv-d C. ®-iv-3M.  D. @-iv-3

27. A F-iv-3W B. F-iii-am C. ®-i-3’ D. @-iii-3



28.

29.

30.

31.

33.

359

36.

fo@al?] [ald|%]h |k

21

@ﬁaﬁﬁémmﬁm HIG HUTET NTHT AR T AT =] T quss :

Which of the following diagrams indicates the best relation between Tall man, Black halred
people and Nepali ?

Y , 00 0O ,@

‘ amwmmmammz ,ﬁ, ,‘10,‘1?1‘@11@31-'«@#1% S W1 30

Tz T gudiee & T A see 2

‘ Six bells commence tolling together and toll at intervals of 2, 4, 6, 8 10 and 12 seconds

respectively. In 30 minutes, how many times do they toll together ?

A 4 B. 10 C. 15 : D. 16

JyEES o ‘nz#r T IUTTH fashede! S TR |

Select a suitable figure from the Answer Flgures that would replace the questlon mark (")
Problem Fi igures: Answer Figures: '

A (B) (© (D) (1 2) (3) @ ®
7 | : B. 2 26 3 D 4.
foreR TR : '
&. mwmmwmmmmmml
W, - R G G SHTAR 9 7aH SHUEE 34 99 AR ThI B
T TRV AN F G AT T I SeHT Eeh o e arereraen! 1ol Setenee TS |
A. FI@HFEIE B. FUHF & C. THHAIS. D. HI3®

. OTEHTET S <..oononn e TG SIS RS |

A @ HAfes R B. ufv=d FHMvSE SHe

©'C. IR HveT SR D. =fu sHfves S

G (ST 1 FIe) U, 0%Y R TH Rxmmﬁaa@mmﬁmm@
o Seorg et 8 2
A. mﬁmmﬁﬁ@mzqynﬁqﬁmﬁfu

B. I YEH T @FA €Y

C. ¥ vem T TafeT T firer Friw e e
D. ¥l gegeh! FreAfHeha

A gEAFEREUmEE B, fyuEA g C. STagigI o D. gy feg
You've only three months to complete the course, Don't give ...... now. ;

A. out B. away T C. up " D. off

The traveler slept under the ...... shade of banyan tree. -

A. cold - B. ' cool C. cooling D. dark



37.

38,

39. .

40.

41.

42.

43.

22

 She has an aversion ...... taking even onion and garlic.

A. with . B. at C. against D. to
HEhIeH ST G FEF AT RS 2 o - ‘
A. RGeS . B. ¥ IR I8 SR A
C. dgUUSHT =9 IRadd 9 D. mﬂzﬁmﬁm%ﬁ

TR WG AT A FA A 2

A. Ta=mes B. ¥ ‘e ﬁwa‘m?m D. fa=ifiz
. Tl dfiern Tarafe T friees e e ey

Rl T | wE I |

. SRe™ S 3. N;B,0,H,0

w. defee TefEe aede 2. K, SO, Al(SO,); . H:0

T I TEIEIRES 3. CaOChL

H.  BReE gehe ¥. Fe; (SO4)3

A, FIE-IT-IH-¥ " B. H-3T-q -3 T-¥

C. F-9T-RT-¥ T3 ‘D. F-¥@-3T-REY

Teget fesm TR Sgye T Hh S 2

'Count the number of parallelogram in the given figure.

A 47 B. 45 C. 41 D. 39

e A T R R RE § 2

Choose the figure whlch is dlfferent from the rest

© St
A 1 C -3 'D. 4
g mmﬂm@a@ﬁmh@m uhﬂwﬁamzﬁmw 2.

What is the opposnte 3, if four dlfferent posmons of dxce are as shown below?

(n) (m) i (iv)
B. 4 c. 3 , D. 2

?3)



45.

46.

47.

48.

~

50.

51

52.

53.

- STITEhT HERNTehT SEedh! SRl e e

49.

23

e e e P e e S T A e Sl TR

Group the given figuies into three classes using each figure only once.

©|Q|M|lg
A

5 7

A il,2,6 ;3,47 ;5 B! 1,3;2.6:457 . -C. 1,267:3:45...D..-1,3:24.5:; 6

ifien fagr wrerehTed 5 QUEH ? ,

A. @ SRR _ B. iteteR @i wod
C. dfgfade : D. e ES
‘RNAmmné?@a@méqgta? '

A. Qrgﬁﬂ(Ademne) B. TaMMA (Guanine)
C. oiEff (Thyamine) : D. HEAfEA (Cytosine)
ﬁwmzﬁﬁw@mmmmmaaam

faw FeTTA &

9. Rt F. O ST S

. oS @, ! T

3 . foiesh . IS T

Y. oyedifesw o OGO S8 AT A
A -H-WI-TTY-H B. 9-9¥ R-M3-WY-F
C. 9-@R-F3-TY¥-§ D.

94— -9 3-T ¥-T[

F. SR Sy faga wemer qun faao

A, HIEEEE | B. awnﬁmﬁ ' C. HUTHEEE D, AfUSIEN T

The river overflowed its .......... and flooded the area.

A. edges : . B. fronts C. limits D. banks

...... The arrival of the police, liobody went near the victim. ' :

A. Unless 7 B. Although - C. Even D. Till

When I was a child, I ......to school eVer_yday instead going by cycle.

"A.  had walked : B. walked

C. have walked D. have been walking

T R0YG T AT T T o e e e T SUEEaR sHese HHh! Shoe! Hesgerd -
®. H9M . S9H M. T . STHAT T Y AR

A. @-H-9-T-¥ .B. HGI-FT C. FI-G-FFT D T-F-I9-TT

T TR HIEH U, R000Y T SHERT WU SRR T ST TRAeTeht SaoT 7T i shia St

TG T g TGS ? _
A. HOTER- B. 0 &R . C. YT . D. THTE



54.

55.

56.

57.

58.

24

TR TR :

9. T T HiTEEETE 9/ 4 IO § H I T HE HOH 9 |

TR, A T el 9 9% 4% el Y Y W1 waw U Hee) e o g

3. AUE, mmﬁx%ﬂ@mmmfﬁ@mpackaoemalmﬁs@
foran

A AESE B. :3amd®  C 9i3W@d® D, whdw
o=t X = fesuen Sheeae oo e g e s 2

Find out which of the figures 1), (2), (3) and (4) can be formed from the pieces given in
figure (X).

Sy

N x> ; -
7 < MU E
: x) (1) (2) 3) @
A 1 B. .2 C. -3 D 4

Torspreamn fguant =R 3 fepred) g ot weie T Rsws! Afteaet 3o e X

Select a suitable figure from the four alternatives that would complete the figure matrix.

ahs
L]
LA 2

OO

(1) @ (3 (2)

A1 B, 2 ST : D. 4

o X =1 Y e v TR A D 2

Choose the correct mirror image of the given figure (X) from amongst the four alternatives.

& OO929=S

it 6.6 (1 2 3) 4)
A 1 B. 2 o C. T3 D. 4
mmﬁmmmﬁmﬁm@ﬁﬁ e i 2

Select a figure from amongst the Answer Figures which will continue the same series as
established by the five Problem Figures.

Problem Figures: S Answer Figures:

N
NN
1 :- :‘:

.‘ L
-t

N
v

A ®B © @O (&
AT . B, =2




59.

60.

'61.

62.

63.

64.

65.

66.

67.

25
ﬁn@mmﬂhﬁmmmmﬁha‘mvw ?

A. thm y L ¥ mzmmm
C. 3 - 1 W = IR
AR TEEHAD! TG ... ...mwa:mﬁmmm ........... o qqa?ren
A. fad.9Ry0,%035 . B. fad. 9’0, 3035
c. fa=. 380, 30% ' D. a4, wai 09%
) ﬁmmmmmﬁm o005 ”"-;* s
sn) iiferen e Sl e foed WS | , o

- (30) T(3M). AT ~ B. (3NT(EMZEITE _
C. (), (3 T .. .D. GNE,E T ’
mmﬁm@mmmmmmmw i,
A oY B. g C. v %9 D. &e

In the followmg questions four alternatwes are given for the phrase italicised and underlined

in the sentence. Choose the alternative which best expresses the meaning of phrase
The cricket match proved.to be a _ggﬂ-L

A. akeen contest , 'B. ahuge attraction

C. alovely spectacle - . D. agame without any result
choose the word which is the exact OPPOSITE of the given word

DEFIANCE

A. Anxiety B. Obedience C. Suspicion D. Dismay
Choose the word which is the exact OPPOSITE of the given word.

ENCOURAGE >

A. Dampen B. Disapproye C. Discourage D. Wam
3 T TTSge |

A, Sl ERe 6 T S foree e 5

B. dia Ufien firgseien! &he ¥¥o 1 fFaAifHs &1

C. orue TR SR arTge, Ao T g fear hiag 51
D

3&1&%%%@% m@mﬁmmmmmﬁm

T
“uern fad. aaa-ﬁmmmmmzmmmmm
fremsge™ | :

§.  dME i _ A U&
CR it : : am. - 3R
ER S - 5. 49
¥, Ery ECE g B:..%0
A. C

wAE YA B waABE . Co Wiy D v




68.

69.

70.

1.

72.

73.

74.

75.

26

TR &5, 095 RTAH D 2 : '
A. . ftes ygao frfer Oy, H%gamw%mﬂﬁ
B.  UHHAH el

C. vfaEn ao vy e oma

D. T3 Y, | 376 9o : famh sudim g s

. TS (Goeter) %ﬁtmﬂ@mﬁiﬁif ?

A. Wfe B. wEieRESd C. wrifgg ~ D. mEfen

e fegen et Sofiemé swom fgea g7 s s 2

Select a figure from amongst the Answer Figures which will continue the same series as
established by the five Problem Figures. =

Problem Figures: . Answer Figures:
O x| OoO[sT¢c * | * | *« O] s
=AloAD|lsOxjOxci*0Os| [c 40ic s dcsalc+ ¢lc ¢
@ ® © O @® m @ 6 @& 6
A 1 ' B. 2 - . 3 . D. 4
ot X =1 o e Suge SR A W 2

Choose the correct water image of the given f‘ igure (X) from amongst the four alternatives.

b VYV

(n (z) @ (4)
D. 4

'mﬁ%ﬂ@ mmﬁmmmﬁamm

Select a suitable figure from the Answer Figures that would replace the questlon mark .

Problem Figures: Answer Figures:

* @ ; @ ®
as[e]?] [eTs[e]s]e
A" (B ©) (D) (n 7 ) 3) - 6)

A 1 B. 2 C. 3 D. 4

WWMWWWWW%—%R7

A. AR, I, T, =4, ST . B. M, %9, YeirmE, TR, TR

C. TF, SHAlL, Jelrgd, @i, 9 . D. . %G, T, I, ST9H, SR

mwmﬁmmwmmﬁmmwﬁmm 095 FFER T Fawrg

YEHEH AT ... e afed oo 3w R B

A, 0.49Y, 9¥% B. 0.4¥9, 9¥y C. oX¥9 ¥R - D. o.yey, ‘WK
fﬁmﬂﬁm
. 090 fedrmw 39 mmmmmmmmmﬁ@u &

g. mmaﬁﬁmﬁmwwﬁaﬁmm@wﬁ@ﬁmwrﬁmw
ST YR SEHETHETE ISR AT s ot Seerss e Tae T g )

A wiEfes B. A= fss C. winfes D. wfsw




76. A person interested in collecting, studying and selling of old things is called ........coniee
A. Antiquarian’ B. Junk-dealer C. Crank D. Archealogist
77.  Choose the one which can be substituted for the given sentence.
A drawing on transparent paper

A. Red print B. Blueprint - ‘C. Negative D. Transparency.
78. . One who is not easily pleased by anything is called .............. : 2
“A.  Maiden B. Mediaeval C. Precarious D. Fastidious
79. Tovasu geum, ?ﬂcmmmmmﬁﬁwm?
LA B. . o b
80.  wiafeht o e, ?oexmmaﬁumﬁw:@m%ﬁm?
A. a‘a fa. vt el B,  §=EUwR
- C. TETES D. I g Y
81. wmmmmzmmmmmmm@mm
EX
S A, YRAEY HIEUel - Community leadership
B. TI.T%H & - Peace and International understanding
’C. HRIfe g - Community leadership '
s T8 ' - Uncategorized
82. aﬁ*aﬁm 200/ 0¥, TR AHIH ST TN T SR Hi R RS ?
A. 9% B. & . C. R0 DR e
mﬁs@mﬁmﬂmxmamqmﬁmmmiﬁMMﬁmw
TReefieE R SEgd TREH Bl :

The following line graph gives the percentage of the number of candldates who qualified an
examination out of the total number of candidates who appeared for the examination over a period
of seven years from 1294 to 2000.

Percentage of Candidates Qualified to Appeared in an Exammatlon Over the Years -

90" ——— 5 %
-80 - 7
70 4———

60

50 i SRS SCRS

Percentage

40

30 ' : ,
30 1 : BB W

20

10 ———

g | + + + + + + +—A
2 1994 1995 1996 1997 ° 1998 1999~ 2000

" Years
83. m@-@mmmmﬂm@m%ma ?

The difference between the percentage of candidates qualified to appeared was maximum in
which of the following pairs of years? »
A. 1994 and 1995 B. 1997 and 1998 C. 1998 and 1999 D. 1999 and 2000




85.

86.

87.

88.
89.

90.

91.

92.

93.

94.

28
TS A S e Sfol aReneffer ! S SRR S 2 .
In which pair of years was the number of candidates qualified, the same?
A.- 1995 and 1997 B. 1995and2000 C. -1998 and 1999 D. Data inadequate
Ffk 935 A Sfet sew aRemieeR! @ mooawﬁﬁtaﬁmmmqﬁ&mm TTH
WA ?
If the number of candldates qualified in 1998 was 21200 what was the number of candidates

appeared in 1998? ,

A. 32000 B. 28500 : C[ 26500 - D. 25000

% 93%% TIRRYS TN ST ¥evoo Tfemelt wewrRt wdawﬁﬁgéa&mmmmﬁm
TTH WS ?

If the total number of candidates appeared in 1996 and 1997 together was 47400, then the
total number of candidates qualified in these two years together was?

A. 34700 B. 32100 C. .- 31500 D. Data inadequate
9383 T 000 T ST 34400 TREMEAT SfUE W 1 4388 T %00 ARewefl TR W A W -
000 T ST it R FEWRT W B 2

The total number of candidates quallfied in 1999 and 2000 tegether was 33500 and the

number of candidates appeared in 1999 was 26500. What was the number of candldates in
2000? : .

A. 24500 : B. 22000 C. 20590: - D. 19000
forvm e e wet wés 2 et 20! L '
A FERERR B. #FIE3 C. FRETY D. IREY
P! TSI W § T T RHI S ? :

A sHeRfes B, e atiem @ sRfwuRREe D uREed
e fapedeem wikfa mmﬂmmmmmmmm
FfteeRRE SFAT: afoeein! shew e weét oo orger :

A. T, e, sgg W@, SRR B. o, ﬁg@ﬂ,fm—mrg‘f

.. Torg, sreg @, FerwE], FRTE! D. wienE, firg, ¥7=3 we, SBEE
AR Fi G MRS w2 :
A wwfewa | B, e fug C. T.yI==ETicd D. wHIFAvl fRafe
. eTh! SOl U TR - -
1,1,4,8,9,27,16,? . ' _

A 32 B. 64 2 G B 2o D256

@mmaa@ﬁmmqsm mmmmwmqmm
AT ST i fereneff @e 2

A pupil's marks were wrongly entered as 83 instead of 63. Due to that the average marks for
the class got increased by half (1/2). The number of pupils in the class is:

A 10 - 'B. 20 ; C.. .40 b. 73
3009 et AR F1-51 e guem e 2

On what dates of April, 2001 did Wednesday fall? : :

7% ls!, 8“‘, lsxh’ 2211(]’ 2911\ i B 7nd ()i'n 16(h: 23rd. 3011-.

C: 3rd,‘ loth, l7lh’ '24th ) - D. 4m i1 1th lsr_h’ 25!)!.,




95. RIS AT T ARAATE B (S ? et
' A. Horology B. Cancerology C. Osteology D. Oncology
96. T FAPTE R SHRE GeaRRE SH: Ifoceiicn! sl 7 9 98 & ?
A. Australopithecus, Ramapithecus, Homo erectus, Neanderthal Man
B. Ramapithecus, Australopithecus, Homo erectus, Neanderthal Man
C. Ramapithecus, Australopithechs Neanderthal Man, Homo erectus
D. Australopithecus, Ramapithecus, Neanderthal Man, Homo erectus
97.  NETER! ST e Al FaoH AFER mmmmmva ?
A TEm B. WWAX c. fouer D. faws
08, o SRS Rem e AN T SRS YR BT AGI TS S TS hiet & et 2
" If 7 spiders make 7 webs in7 days, then 1 spider will make 1 web in how many days?
A 1 Eae : D. 49 2
99, 3voma%mm§§tﬁﬁzg§ﬁaaﬁaﬁwmﬁrmﬂahﬁv .
At 3:40, the hour hand and the minute hand of a clock form an angle of:
A, 120° B. 125° =G E1309 T DA I35 :
100, TS ERA WiEe & e T e T fora, A e o e T e 7 9fs st
T T U S 9%:84 TR Y SR sl gen s i i o 2
8 litres are drawn from a cask full of wine and is then filled with water. This operation is

performed three more times. The ratio of the quantity of wine now left in cask to that of
water is 16°: 65. How much wine did the cask hold originally?

A. 18litres B. 24 litres - C. 32litres D. 42 litres
Q.No. | Answer i g . Explanation :
Key ) .
1 C |2C [3B  [4C - |5B [eD. [7.€¢  [8D J9.c |10C
11 A. hs, Similarly, :
+1 5
, vl . +1
A EFo1 g0 b 6 x LR i@ Y .2
L LI Bl oo sgbe Mool
+4  +1 +4 +4 +1 44
12 -B. Baseball is like volleyball, Hockey and Football.
13 D, First number = 8 and the sum of the digits of the second number is 2 + 8 = 10.
Thus the difference of the first number and the sum of the digits of second number is
10-8=2.

Similarly, the sum of the digits of third number is 2 +7 =9.

Hence the sum of digits of fourth number should be 2 more than 9 i.e. 11
Hence, fourth number is 65.

14 (s As Numismatist collects coins similarly Pthatehst collects stamps.

15 A. 4y +(2) +(1)'_21 ¢ 2 :

: and (5)" + (3)° + (8)° =98

Therefore (6)° + (7)” + (3)* = 94.. : .
16 A |17.D [18D [19.B [20.C [21.A[22.C [23B [24D [25.A [26B
27, .1~ B : : : :

f=ra<) P T AT




30

28

Tall men

Black haired people ;

Indians

29

L.CM.of2,4,6,8,10, 12is 120:
So, the bells will toll together after every 120 seconds(2 minutes).

30
| In 30 minutes, they will toll toget_her 7 + 1 =16 times.-

- 30

31

328 |33.D [34.A [35.C [36.B [37.D [38.A. |39A [40A

41

o (D | >

| The ﬁgure may be labelled as shown.

8 31 K L C

The parallelograms composed of two components each are ADME, DFNM, EMOG,
FHJN, MNKO, GOLI, HBIN, NJKO, OKLI, FHNM, MNOG, DFME, HIKN,
NKLO, OLCI, FNOM, MOIG and DMGE. i.e. 18 in number.

The parallelograms composed of four components each are HOKB, NILJ, FGOH,
HOLJ, NICK, FGIN, FMJB, DENH, MGKJ, MGCL, DEIO, FMLK, AENF, AGOD
DMJH, DOKF, EILM and EGKN i.e. 18 in number.

The parallelograms composed of six components each are AEJH, DAIL DECL,
DEJB, HILB and HICJ i.e. 6 in number:

The parallelograms composed of eight components each are FGKB FGCK and
AGKEF i.e. 3 in number.

'| Total number of parallelograms in the ﬁcure =18+ 18 + 6 + 3 =45.

42

43B [44D 45D

46.

47.A |48D |49D|50D I51B. - [52.A . f53C |s4.C: -]55.C

56

In each row, the first figure is rotated through 90° CW to obtain the second figure and
the second figure is rotated through 90° CW to obtain the third figure.

57

158.A [59.C J60.A [61.A [62D

63

64B [65C [66.C [67.A “|68.A |69.D l70.A. ]71‘B [

72

The figure rotates through 90°ACW.

73

74. A|75D [76. A |77D [78.D [79.C lsoc [81.A [82.B

83

Wwlnw|g "o

The differerices between the percentages of candldates quahﬁed to appeared for the

give pairs of years are:

For 1994 and 1995 =50 - 30 = 20.
For 1998 and 1999 =80 - 80 = 0.
For 1994 and 1997 = 50 - 30 = 20.

_| For 1997 and 1998 = 80 - 50 = 30.

For 1999 and 2000 = 80 - 60 = 20. .
Thus, the maximum difference is between the years 1997 and 1998.

The graph gives the data for the percentage of candidates qualified to appeared and
unless the absolute values of number of candidates qualified or candidates appeared is
know we cannot compare the absolute values for any two years.

Hence, the data is inadequate to solve this question..

85

The number of candidates appeared in 1998 be x.

»
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21200 x 100

Then, 80% of x= 21200 => x= -

= 26500 (requlred number).

86 -

The total number of candidates qualified in 1996 and 1997 together, cannot be.
determined until we know at least, the number of candidates appeared in any one of
the two years 1996 or 1997 or the percentage of candidates qualified to appeared in |
1996 and 1997 together.

" | Hence, the data is inadequate.

87

The number of candidates qualified in 1999 = (80% of 26500) = 21200.
- Number of candidates qualified in 2000 = (33500 - 21200) = 12300.
Let the number of candidates appeared in 2000 be x.

Then, 60% of x= 12300 => e IS D om0

88

- 60
89.C [90.D [91.C

92

The sencs cons:sts of squares and cubes of consecutwe natural numbers i.e. 151,25,
2,554 -
So, missing term = 4® = 64.

93

Let there be x pupils in the class.

1

Total increase in marks = X X 2= -')25 =(83-63) 3’— = 20 = x =40.

D | >4

94

We shall find the day on 1% April, 2001.

1% April, 2001 = (2000 years + Period from l 1.2001 to 1.4. 2001)
Odd days in 1600 years = 0

0Odd days in 400 years =0 °

Jan. Feb. March April S

(31 +28+31+1) =91days = 0odddays.

Total number of odd days = (0+0+0)=0

On 1% April, 2001 it was Sunday.

In April, 2001 Wednesday falls on 4”, 117, 18"’ and 25",

View Answer Discuss in Forum Workspace Report

95

96.B [97.A

98

Let the required number-days be x.

Less spiders, More days (Indirect Proportion)
Less webs, Less days (Direct Proportion)
Spide@ @ : 7 -.:7:x

Webs 7 |

* Ix 7 xX=9x1x7 ==

99

Angle traced by hour hand in 12 hrs. = 360°.
OB S epUIPE . e =S
Angle traced by‘ itin 3~ hrs ={75 X 3) = H0O
Angle traced by minute hand in 60 min. = 360°
: 360 2
Angle traced by it in 40 min. = ("66‘ X 40) =240°

100

. Required angle (240 - 110)° = 130°. .
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< 2 B IPARIG! GII Answer Key

L. I ®®OD |2 | ®®OD| 5. [@®OO®|76. |®@®O©®
2. |®®O00 |7 |0®O00] =2 |0e0®]| 7. |@®0®
3. |®®OD |28 [(A®OO |5 |[(OOOCD]| B [@®C®
4 ®®O0D |2 |[A®OD| 4 |®®OO| ™ ®B®OO-
5. |@®OD |30 | @®OD| 5 |O®C0| % | ®®O®
6 | OO |31 |[A®OD| 56 [A®OD |8 |@®O®
. |®®00 | 2. [A®OD| 5 |00 | % (@O
8. |®®O0 |3 |[@®O0| % |0 |8. |®@®O0®
- |®O®O® |4 |A®OD| % |00 |% [@®OO .
10. @OO® |35 |(O®OD| 6. |A®OD|ss. |A@®O®
1. |[®®O® |36 | A®OD| 6. |®®OD|3%. |®@®O®
2 @O0 (3 | OB®OD| 6 |A®OD|% (AE®OD -
3. OO0 |8  OB®OD| 6 |[@®OO|ss. |[@®O®
4. |(BB®OD | 3. (OO |6 |[AOCD]| s [A®O®
15 | ®BO® [ 40. |O®OD® | 65. |®@®OD| % |A®O®
1. | ®®OD |4 |O®OD | 6. |[A®OD[ 9. [B®OD |
17. |®®O0 |42 |®®OD| 6. |®@®OO| %2 [@®O®
B 10000 |43 |O®O0OD| B3 | 00D % [®A®O®
Y. OO |4 [AB®OD| ®. | O®OD|% |A@®OCD®
20. |®B®OD@ |45 | BBOO| 7. | O®OD|% [@®O®
2. | B®OD® | 4. |®®OD| 7. |O®O®| % |@®OO®
2. |(®B®O0 | 41. ®®OO | 72. |®@®OD| 9. |@®O® |
23 |@®OD |48 |O®OD | 73. |O®OCO| % [@®OD
24 1OROD |4 |O®OD| 4 |®O®O®| % |®@®O®
25. [ A®OO | so. 51 OOD|10. | A®O®

@®OD®
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it !Rﬁl'ﬂ? AT : 3 (Set 3)

Mmmmmammmmmmmw g@%ﬁem
e e -

A. mm@awﬁmm

- B. o, Ai-susts, ABAHRE, HHAME, B

C. s, fmrm, dig-gugre, Brgm, saams

D. - foemim, sedtase, frgm, Hig-guavs, FHAFR

72 T o faer g e e sien firens vt fase ovger

®. AR 9. = H
@, IS . Y-HE R

7. fofafed fad/ 3. I HEEER

A ¥,  AfeEea &

A. &3, @Y, T-9, TR B. “®-,@-3, T-¥, -9

C. &-3,@-3,7-¥,5-9 D. -3, &3, 7Y, 99 ;
TeaTEE o8 WTH! T SUI foed SR T : PASS : QBTT :: FAIL : ?
A. GIBM - B. GBIM C. MBIG D. MIBG
'Nun' is related to 'Convent' in the same way as 'Hen' is related to: '
A. Nest ° B. Shed .C. Cell D. Cote
R TR TR ? ' .

A HEE &6 — TEE B. Tfves =0 — 3o sTafient
C. e YaHre ——> L A HT . D. wmwuaam%qﬂm

ATl G foheTR FEaTe (rgeT (e TS 2

Which one will replace the question mark ?

7 4 5
8 7 6
el ?

29 19 | 31
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&% me@mmﬁmmn@m

Which one will replace the question mark ?-

8. mﬁmwmmmml

Select a suitable fi igure from the Answer Figures that would replace the question mark (?).

Problem Figures: : Answer Figures:
N W e9 .1 < ; @ : : e L ' )
AN ? >o>o>o<of<:
A ®) <C_>‘ @ M @ 6 Q.
A1 2 C. -3 D. 4 :
9, mw@mmmmﬁwﬁmmwmmw@w
A fafem B. wEafen C. 4. . D. ©WEH

Study the following passage and answer the question which is based on it (10-14)

The Indian middle class consist of so many strata that it defies categorisation under a single term class,

which would imply a considerable degree of homogeneity. Yet two paradoxical features characterise. its

conduct fairly uniformly; extensive practice and intensive abhorrence of corruption.

In the several recent surveys.of popular perceptions of corruptions, politicians of course mvanably and

understandably top the list, closely followed by bureaucrats, policemen, lawyers, businessmen and others.

The quintessential middle class. If teachers do not figure high on this priority list, it is not for lack of

trying, but for lack of oppurtunities. Over the years, the sense of shock over acts of corruption in the.

- middle class has witnessed a steady decline, as its ambitions for a better material life have soared but the
resources for meeting such ambitions have not kept pace.

- What is fascinating, however, is the intense yearning of this class for a clean ;.orruptxonless politics and
society, a yearning that has again and again surfaced with any figure public or obscure, focus on his
mission of eradicating corruption. Even the repeated failure of this promise on virtually every man's part
has not subjected it to the law of diminishing returns. ’

10.  The intense Middle Class intensely yearns for

A. better material resources . B. extensive practice of corruption

C. clean honest society ' D. - law of increasing returns
11. - - Teachers are not high on the list of corruption because they do not have

A. courage - B. opportunities C.. support D. -~ ambition
12.  The Indian Middle class is o

A. defiant B. mysterious C. hoinogeneous D.. stratified
13. Who figure on top of the list of corruption? '

A.  businessmen B. lawyers C. politicians D. policemen
14.  This yearning, over the years, has :

a AN S, - B T . =S % = Cun = —
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15. ﬁﬁﬂ(‘ﬂj@!ﬁ
%. é@ﬁ‘Eﬁaﬁﬁl(Doublclandlocked)%ﬂﬂﬁigémEﬂmm?ﬁ“{mm%ﬂ@f
e ot -
T FfewE ¥ feeene SRR yuRafed dw e
. A W, WTEE B FEM @ C. T[@ D. T¥TEm
16. AR GAEER 2 =

F. TR HUvs SR T SemeE R |
W HEgue aIeEr e T STedt e S B |

. g Eien Harresh! Hoas) T 9 | ’

. %maﬁ@wgﬁmﬁﬁammmmaﬁmﬁam _

A, HIEHEHA B. $ITHAH C. 7HH  D. =AW

17. W o S Fenr TR R R G .. FTd Frgfeen et fawRe
TG ST AUTeTeh! TSI O/ ... e MREHI B
A. 9 =fET Y B. 3 f&, 309 C. 9 =fe, 309 D. 3¢ fe, w3

18.  Aurel ATt AW, 094 T T Gerhe) HH T TR 2
A. 094 BEF § TTd ST ! o)
_ B. mmmmmmammmmxmm.
C. dfaum i T W amgeR Sifre wean fageen ford
D. 90 HFT, 9O YR 3 FTGETEE W Iw |
19. From the given alternatives, choose the one whlch best expresses the given sentence in
Indirect speech. -
She said to her friend, "I know where is everyone"
“A.  She told that she knew where was everyone.
B.  She told her friend that she knew where was everyone.
C.  She told her friend that she knew where is everyone.
D. She told her friend that she knows where was everyone.
20. ©  Pick out the best one which can complete incomplete stem correctly and meaningfully
In order to help the company attain its goal of enhancing profit, all the employees ......
A.  urged the management to grant paid leave . .
B. appealed the management to implement new welfare schemcs
C.  voluntarily offered to work overtime with lucrative compensation
D. voluntarily offered to render additional services in lieu of nothing

21.  I'was astounded at his ...... lack of knowledge about the Continent of Africa.
A. abundant . B. colossal , C. huge . D. great
22. - Sita always...... the permission of her father before going for movies. '
- A. seeking : B. seeks C. sought- D. seeker

23, ! SR SFER Tl F T e The S vde ?
9. gguyhwen IR, FAHY TR e
3. YR ey ¥.  gEfd i, stfirer T sferent fastn
A 9IHEE B. RV AR C. %,3WIAFA . . D. 9,3,31v®d
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24, T STEHRETE TR T SHEE SeR! SE e T 9 1§ 2

"Human right are inscribe in the heart of people, they were their before last maker, drafted
their first proclamation."

A. F.W.Roosevelt B. Todd Landman C. Mery Robinson_- D. Widrow Wilson
25, mmm@mﬁmmv ' ‘

AR B. 3 c. . P-4

26. 3refirs A W, Rwammmmw@@wm7
%. famior sgm . e 3am - . @ A ¥, Vs I
A ®H1E B. &, @17 C. § 1Y . D.®@IT

27. mmmaﬁmwwm

- Count the number of parallelogram in the given figure

A 23 B.~ 22 (1 0 D18
28, o FeTeees e T SIS TRY A T S iien o TR, : ’

Group the given figures inte three classes using each figure only once.

&
1 ] 3
okda
R SOV 7 g |_o ' ¢ ;
A, 247:189;35,6 B. 2,69:;1,57:;34.%8
C. 26,7:;158;349 D. 2.87:;1,59;34,6

29. mmm@m@ﬁﬂm W& S ?
Choose the figure which is different from the rest.

3 el

>
—e | == | | —

> = >3 -

RCO N )R €)) @ O

A1 B. 2 C. 4 D. 5
30. mmmmmmmgﬁm
A FTEITHE B. Heﬁaqﬁaﬁaaﬁ?aqafwrﬁ
C. T AT e S T = D T S g fawne vgE
31, IR I SAICEH! it SN R e ¢ e : :
%. fofgero 9@ — i T, S T — TS A
T TR TEER > T T aw 7. - TR SR — 9SS! AR

A %@ HESE B, %, @ITHEIE C. E,ﬂtamér’aﬁm, D. HI3H



32.

33.

3s.

36.

37.

38.

39.

A, TETE, 9% B, AW, 9% C. TATS,99% D, ST9M, 9334

TR 108 7 fRwg © mﬁwanﬁ@ann@mﬁamwﬁamm
Fresa TS FA R S 2
A T HIUE, IO HIUS, AL FE, T wvg, gt wws

B, SRS, IRUHITS, fHfEm-a1 H1vs, At H1UE, G FH0E

D. R FIUE, AAHVE, AT HIVE, 3T 108, Fpfispea Hg

Pick out the most effective word from the given words to fill in the blank to make the
sentence meaningfully complete. -

He felt no ...... - as he plunged the knife into her back.
A. qualms B. scruple , C. conscience D. morals

Pick out the most effective word from the given words to fill in the blank to make the
sentence meaningfully complete.

You haven't had your lunch yet, ...... you?

A. are B. aren't - C. have B * D. haven't
s wE =+ TaE e ﬁa@aﬁmvﬁﬁmﬁzm:

wE W g TR e

FN) B ‘ .0 BY3s fa

SHECCGHU R &R’ X

3) HHG 3. 59%0 i

3 TR Y. o¥e3fax

A W IR, R,V OB W,IRAN,R C. M, IR, I,R D eﬁx@m'@é‘i

WW?@WWWMWWW@WW

Y arﬁc'mw

F. TE . . 5. fegwme

q. e - , - . HU A Rl

T I 3. g U

. E Y. WRARTH A

A HY,T-3, T, T B. ®-¥,®-3, 79, ¥-%
C. F3,T-Y, 79,9 : . D. %9, T-¥, T3, U-3

A & T © B. %@ C. ®um D. wifers T

W-WMMWWW@WWTWMWW
- for) _

A. SR fHg, SRt e s B. TR fog o, sier miser aifevee -

C. TR fog o, SeRe 332 T D. 3R fog oy, sFRe Tfe avee



40.

41.

42,

43.

44.

38

foram TR -

9. maaﬁﬁw@mﬁﬁaﬁmmﬁmﬁn

3. ol ufen frgsst v 3 famam feam S 31

3. a@mﬁm@muoaﬁﬁﬁ@@rm

A, 9IRTES® B, 13WEIS - C. mmm— D, ReEicy
3 X T W AR e e R e 2 ‘ '

Select the figure which satisfies the same conditions of placement of the dots as in Flgure-X.

¢ Bo&EY

A 1 : B 2 ' 3 : of
et X =1 Wt mﬂuvmzﬁﬁawv :

Find out which of the figures (1), (2), (3) and (4) can be formed from the p:eces given in
figure (X).

VA T |
_ ) PR W)

ot Fer <R i eaEeee SUgT fe on e 0 RN -

Select a suitable figure from the four alternatives that would complete the figure matrix.

®O®
BOS®
®H®®

.@O.

(1) . (2) . (3) (4)
A 1 B. -2 C. 3 D. 4
3. TE. mmwmmmmmmmwv
A We B. -%% C. 99¥ D. 1=




45.

. 46.

47.

48.

49.

50.

51,

52.

53.

54.

: 39
Tafi sreafiee! TRt S foam THeM X o faren witem i)
A. Hydrophyte— TFT U= I=AT gfenq e fagan :
B. Xerophyte — HEYfH den @@ 33 g fowan
C. Halophyte— el g gl e foean
D. Benthophyte — Teieet YfHHT glen defoman -
FETHR! SIRET AT SREEH foER e -
%. el Botanical name Girardinia diversifilia B |

@, Il i W Haesra qR00 A 3fE 3000 frer e 39EH UEw |

A TS B @E® 0 C FI%, WS D % %, @I
WWW#%W@WW%WWW@WWWM
Earth First mmmﬁmmm ¢ .

A. W@ B. HIwm A& C. woE D. - =faqu stfipet

The manner in which bombs exploded in five trains with in a short span of tlme suggests that
itis a part of a ...... ;
A. game B. conspiracy © C. villainy D. sabotaae

Pick out the most effective word from the given words to fill in the blank to make the
sentence meaningfully complete.

Wheat ...... carbohydrates, v1tamlns, protems, and dietary fibre in our dally diet.
A. has B. gives 23 = EL L NS D. provides

A man remains narrow minded, self compliance and ignorant unless he visits other people
and ...... from them.

- A. earns - B. borrows g C.v learns . D. hears .

Pick out the most effective word from the ngen words to fill in the blank to make the
sentence meaningfully complete. .

My father ...... down for a nap. : !
A. lays’ ~B. laid C. lain D. lie
International Red Cross QWWWWWWWE—@R ?
1. W‘R‘N R TR 3 HRERR

AL IR B. 933 C. IXF D. &9
Ry . - | x

%. eIl BIMSTEC I ¥ § 9% I & T BISTEC % 7SI HUH! & |

W IR A WSE 6 9%%¢ FeRraR 33 T gaw et ,

T forRHH (Y e el S5eETE Public Health 4579 G3H siesm T3 |
A, FIEAASIF B, HITHIHSE. . C. @Urmsraﬁa: D. 9adiH

T e ¥ Tftga dfkreen! forsmn et firemsaeng :

. uIfewE 3. TN

E. drERy R. A

M. s 3. =E™
oW . g

A H-Y, @Y, TR, T3 B. -3, @-3, 7-¥, 99
j 55 D.

H-¥, @-3, T-9, ¥,-3 F-3, @-¥, -3, 9-9 .




55.

56

57.

58.

59.

60.

61.

_ 40
International Day for the Eradication of Poverty Eﬁ@lm ?
A, ¥ FRR B. 9% FHRIR 'C._‘\im Pl - ﬁ\saﬁaat
ot X 1 T e STt FA A 2

Choose thie correct mirror image of the given figure (X) from amongst the four alternatives.

e R
|| A7

X) (D @ 6 - @

A1 B. 2 C. 3 : D. 4

T fasm fegwe e Sl st Mﬁmﬁwﬁmﬁmva ?

Select a figure from amongst the Answer Figures which will continue the same series as
established by the five Problem Figures. pe .
Problem Figures: Answer Figures: ;

w2 ~ ~ v v w vl Y Y o
C MC 2 M) CLC CHIC Lic. €6 CJC K
aelveiLeClCIlG IDC 1TV ILC L Ceg )

a ® © O ® GO @ ) ™ G\
A 1 B: 2% W D. 4 _
SLAPSTICK : LAUGHTER mm@mﬁ? SLAPSTICK : LAUGHTER in the
same ways ?
A. fallacy: dismay B. genre:mystery C. . horror: fear D. satire : anger

Wﬁaw@mmﬁmwm

Select a figure from amongst the Answer Figures which will continue the same series as
established by the five Problem Figures. :

Problem Figures: . Answer Figures: : .

r — 17 B4 = L a1 I‘W"l

¢ _ojc 40 cia O O _#jo #lA° *|= #j0 #
@a ® © O 6 O @ & G G

A1 B. 2 3 D. 4

for X P am R R T R 2 ‘

Choose the correct water image of the given figure (X) from amongst the four alternatives.

: A O : o] ' : v v :
ol A . v o) O

(x) (1) (2) -3 4. - .

A 1 - B. 2 c. 3 D. 4
T T ToH! 2! ®HI United Nations Democracy Fund (UNDF) B TG Higer T A ?

TA. FAR00R B. ®{j00% C. @008 .,  D. F{0R




62.

63.

64.

65.

66.

67.

68.

69.

m@a\amaé'

A. Nicotine
B. Caffeine
C: Auxine
D. Casein

—_
—
—
—

gftien! IraH A a7

- FHiEE A T

ﬁmmﬁmmﬁﬁﬁﬂ

Feafeeh! g O U T

faferet shfees TR X R T el e g T S 2

A, YR 9RO = e

B. IEFI T - e

C. - Jgfa - & D. favg-=g=

wEl 91 ﬁa%ﬁafﬁaraa@w ,

WEl Il

. Acetic Acid . Vinegé.r

R.  Citric Acid €. Lemon

3. Tannic Acid ... Tea

¥. ' Uric Acid ¥.  Urine

A, 9-%, -G, 37, ¥-¢ B. 9-%, -G, 3-¥, ¥-71
C. 9-9,-7,3-G, ¥-& D. 9-9, 3-%, 3-7, ¥-¥

9-%,3-7, 3-7, ¥-¥

ECIE]

q. rmas-anwnsﬁ
. HFEE TN

3. TS YR

¥. fafe=

A.

C

-1, -%h, 3-9, ¥-T1

‘ﬁm@azmﬁa@amaﬁﬁmmﬁm.

et
S wégm :
. F TSR
. fafeam e
. SHIEE S
: B. 9-T,3-%, -G, Y-
D. 9-8 3-7,3-G, ¥-¥

I think they allow their children too much ......

A. liberality

A. distance B. length . C. aim D.
Affix a revenue stami) and put your signature ...... it. :

A. on B.upo C. above =D}
Vitamin K %1 Tl qeiehl YAEes Rer T |

9. VltamnKlmW,mngmm'

. Vitamin K, €18 SFSTHT U bacteria o IARS |

A 93F3E® B, WEwHIWE  C. ﬁngéah D.
T 7o) 1 I TR TR e faf wen S 2

A: ARG ST HY B. - A9 hfee W08 et 9

iC. e e fefiies

B. latitude C.

-

‘D. v fasm I fafqes

lassitude

D.
Pick out the most effective word from the glven words to fill in the blank to make the
sentence meaningfully complete.
Once you suspect a person of double dealing, you ought to keep him at arm's

levity

......

width

over

I KH
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71, e foreme SR A= TR

TR F ' - R

37)  3RfTe! TSET ©-q. 9y AL
am) fogrd wmrt . WReIfEA
3) e ST 3. 99 A
%) T T ¥, <9 f&HAL

A w,mRE B, MIMHE  C M, eR,B®FE D IIREN
72.  SE SFMDTAA TR ?

'A. Double Trade Action Association B. Double Tax Action Agency

C. Double Tax Aveidence Agreement D. Double Taxation Avoidence Agreement
73. faeRTERE '

a. Mesosphere b.  Stratosphere c. troposphere d.  Thermosphere

T fegee! aTgHTSTH HeEeH JEEh Taeard SR e T fae SRR -

A. ab-cd | B. adbc C. c-bad - D. ‘d-acb

mmmmﬁaﬁmmmmmmwm

The following bar chart shows the trends of foreign direct investments(FDI) into Indla from all
~ over the world. ' ' 3 y.

, Trends of FDI in India
' 35 _']l"_'"' L
30
. Inndia's FDI
(mllhons of Euros)
25 4
20
1s

1216

10125

1992 ‘1093 1994 1995
74, 9RR9 TYRRR HI SRR I HA S ?
What was the ratio of investment in 1997 over the mvestment in 1992 ?
A, 550 B.. 536 5C. . 5:64 D. 575
75. IR TIRG mmmmmmmm _
What was absolute difference in the FDI to India in between 1996 and 1997 ?
A. 729 : B. -7.13 C. 813 ; D. None of these




76.

77.
78.

79.

- 80.

. 81.

83.
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ﬂﬁﬂm‘i%“‘{‘i%%\? mmwmmmmsﬁmmm

FFIE TR T, 9% mmmamgﬁ Ry fafea R o 9’% mmﬁiﬁﬁr@ﬁ
Ben 2

If India FDI from OPEC countries was proportionately the same in 1992 and 1997 as the
total FDI from all over the world and if the FDI in 1992 from the OPEC countries was Euro
2 million. What was the amount of FDI from the OPEC countries in 1997 ?

A 11 B. 10.72 C. 11.28 D:-11.5
Foarm TERETS FERIRE G T T SRR T gfg ane afe $ ?

Whieh year exhibited the highest growth in FDI in India over the period shown ?
A. 1993 B. 1994 C. 1995 D. 1996

e T ST WRAHT T e v R aT s 2

What was India's total FDI for the period shown in the figure ?

A. 93.82 B. 9322 C. 93.19 ' D. None of these
TS HE R 3 e, 3 SAND HreN T Y AN VA TA T WA HRAT T3 Fedl 9 9 R
Eﬁmwmm ? A box contains 2 white balls, 3 blaek balls and 4 red

balls. In how many ways can 3 balls be drawn from the box, lf at least one black ball i 1s
to be included in the draw? -

A~ 32 B. 48 C. 64 ‘D. 96
Tezut aoEeR SrRuHl R TR -

) SRENgrA AFe fEla A e

am) s fEe aftEs 2 aem a1

3) I TICTes T 00Y W] THER YAl Y TREH S 1 -

A. - (30) T (3M) T4 T, TR - B. (30T (s ¥, (3) T

C. (@) () =, () Tem . D. @&k

09 T HET TEE «vvosvenncrvsosonsnscs TURBETMT weverereacrssssmessssecassecsesnnios E W A
A. Avmar, faem et T " B. %W, ¥3 T ER

€, wf‘um wafa gfasn D. ¥4, 9=

T S TR vy, 05 mmmﬁmaﬁt:ﬁv

A. Artem Dzyuba ' ‘B.  Alecsandr Golouin

C. Fydor Smolov - D. Yury Gazinsky

mmmmwmmmmmmwwmm‘
yfge i =i uitciee afseeie v qeremmsl 98 S ?
% foa@ @ SEIE™ . wTadee W aEase gméqmaﬁ

A F-G-T-Y¥-F i B. @-%-¥-7-¢
CE?TIWE" D. &§--¥H¥-§-7
mmmmmwmmmmmwa ?

- yo fop fa. B. ¥qf&fa c. yifsf. -y Refa




8s.

86.

87.

33.

89.

90.

91.

92.

93.

94.

95.

44

Pick out the most effective woxd from the given words to fill in the blank to make the
sentence meaningfully complete.” R

My first lesson ...... forgiveness came from my mother
A. upon B. about C: - i : =D on
Tending to move away from the centre or axis is called ................ ]

- A. Centrifugai B. Centripetal C." Axiomatic D. Awry

e wifeqo, quml@ﬂaﬁ*aﬁowmmiaﬂmmmiﬁmmm@
8?2 .
A ResuREd T B. WISTRRE  C. 1.5 W %30 i@

mmmmmmmmmmmmw ,
A. -39 HF, 09¥ ' .B. T, 0¥ -

C. 3R TIH, 09¥ D. 30 A, 09¥
T R T T T R TR S / S e WY - g 2

%. Tomd % gsfes : G, I A WEE

T TEUST - . UNHCR

A H1G B. ®,@IT C. @Iy D. Hifeh oo
St et ST TUHT Ve T SIS THeh Sirel werh] Te3 B T 82

ED ﬁ?%ﬁ— T 2000 Q. agfee- | 005

T WIE- G R00¥ . §ued- " R09R

A HI™ B. ®IW C. w,@Iy D. i &
AT g I T UG e S e | '
125,80,45,20,?

A. 5 . B8 " C.- 10 D:: r12

x & U x g sp wia KA g 2 ' '

How many days are there in x weeks x days?

A 77 8x- € Mx 3 A
amaammmmmm? 2s v

The calendar for the year 2007 will be the same for the year: ‘

A. 2014 B. 2016 C. 2017 D. 2018
¥ TR Y Tren sfefelmi s es 2

At what angle the hands of a clock are inclined at 15 minutes past 5? :
A. 58 (%) B. 64° - C e @ E D 72@°
ﬁmﬂﬁiﬁ '

oy Few, ?oqqmmnﬁ@wﬁmimal
ﬁtaaquaﬂmﬁéwm Bl
mﬂ%wﬁfawmwﬂnﬁqaﬁmmqﬁmwm

% 3% @ T 93M% o B. HIW3IM®, T9H
F 31w, @IS D. & @ITHIEH

0O» Ad 38

>




96.

97.

98.

99

100.

45

et R ORI 599 T, 015 T G e T S i e 82

A, fafsfre B. faafere C. asAfemA D. gfs=mn
aﬁsmwmu@ﬁmmﬁéﬂ@av , w iy

A. M 95, R00¥ B. TRIM IR, R00¥

C. T XY, 300¥ ' * D. THIM 35, R00¥

o Ao s, 095 wﬁﬁnwﬁtﬁﬁawﬁamﬁmﬁawm

A, T e ot - - fin facw

B. ¥ 9@ s B - ATl 3T

c. o aue g . - gfia @

D. Beauty with a Purpose #1 Special Award fostar = #mndm

‘It is being given that (2% + 1) is completely divisible by 2 whole number. Which of the

following numbers is completely. divisible by this number?- - .
A (2%+1) B.  (2¥-1) C. (7x2%) DAY +1)
TR TEY Hi S HSTE 1R A FA WSS 2

How many of the following numbers are divisible by 132 ?
.264,396, 462, 792, 968, 2178, 5184, 6336

AL A 5 Bl : C.ief D. 7 2 -
Q.No.: Ansyv}er : ' Explanation
Key : ¢
1 D 2.C | i
3 B. As Similarly
z pt g+ F2lg
Asblay it a5 o
| s 1 b 3
» gty o—tl,M :
4 D. As dwelling place of 'Nun'is 'Convent' similarly the dweiling place of 'Hen'is 'Cote’.
5 C : '
6 B. (7x3)+8=29
4x3)+7=19 ' ' :
5x7)+6=31 ' :
0=75.
7 c (B3x3)+(5x6)=39
h and (4x4)+(5x7)=51
Therefore, (3 x 4) + (5% 5) = 37.
) c. Except for the dots, the remaining part of the figure rotates through 180° and shifts to
the opposite side of the square boundary.
9 B [ioc- [uB |12c |i3c |1aa |15C° [161) [17.A llsB |19B
20. D 21.B 22B |23.C 24.C |25D (26D
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27

The figure may be labelled as shown.

il

S R S A
The simplest parallelograms are EMLA and NIDJ i.e. 2 in number.

The parallelograms composed of two components-each are BFMG, CGNH, GMKN,
FGME, GHNM, MNKL, FGNM, GHIN and MNJK i.e. 9 in number.

The parallelograms composed of three components each are FGLA, ENKA, GHDJ and

_|MIDK ie. 4 in number.

The parallelograms composed of four components each are FGJK, GHKL, FBNK,
CHKM, EFHN and MFHI i.e. 6 in number. -

The parallelograms composed of seven components each are FHKA and FHDK 1e.:2
in number.

Total number of parallelograms in the figure =2 + 9 +4 + 6 + 2 =23.

28

1, 5, 7 contain a rectangle with its two diagonals as the outer element and another
element (similar or different) placed inside it.

2, 6, 9 contain a triangle with its three -medians as the outer element and another
element (similar or different) placed inside it. '

3, 4, 8 contain a circle with its two mutually perpendicular diameters as the outer
element and another element (similar or different) placed inside it.

29

In each one of the figures except fig. (5), two arrows point towards left and one arrow
points towards right. -

30

31D [32B [33C [34A [35C [36C |37 388 |39B [40.c

41

In fig. (X), one of the dots lies in the region common to the circle and the square only,
another dot lies in the region common to the circle and the rectangle only and the third
dot lies in the region common to the triangle and the rectangle only. In fig. (1) there is
no region common to the circle and the square only. In figures (2) and (3) there are no.
regions common to the triangle and the rectangle only. Only fig. (4) consists of all the

~ | three types of regions.

42

43

In each row, the number of elements in the third figure is equal to the difference in the
number of elements in the first and se¢ond figures. Also, the third figure has the same
types of elements (if any) as the elements in the first figure.

55;

-156.D

45D |46.A |47B |48.B |49Dlsoc [s1.4 [52B [53.A4 [5413 |

57

One, two, three, one, two, three.....arcs get inverted sequentially. This inversion takes
place in an ACW direction.

58

Similar ﬁgure repeats in every third step and each time a figure reappears it gets
vertically inverted.

59

60
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62D |63D |e4A |65B [66B |67B  [68A [69.c |70B




72D - 73.€

J1: .
74 - A€ The 1997 figure of. investment as a factor of 1992 investment = (31.36/5.70) = 5.50
75 B. The difference in investments over 1996-1997 was
' 31.36 - 24.23 = 7.13 millions.

76 A. Let x be the FDI in 1997.

Then: (2/5.7) = (x/31.36)

X=(2/57)x31.36

x=11 : 2
77 D. It can be seen that the FDI in 1996 more than doubles over that of 1995. No other year

is close to that rate of growth.
78 A. Total FDI investment in the figure shown is = 5.7 + 10.15 + 12. 16 + 10 22 + 2423 +

31.36 = 93.82 billion.
79 C. We may have(1 black and 2 non—black)’ or (2 black and 1 non-black) or (3 black).

. Required number of ways = (3C1 X 6Cz) + (3C2 X 6Cl) + (3C3)

X 3x2
(3xgx§) (2x1x6)+1
=@45+18+1) '
= 64.

80 |B  [81A [s2.D [s3B |84B |85D_[86.4 [87.4 [88.C |89C [90D
91 A. The pattern is - 45, - 35,- 25, .....

So, missing term =20 - 15 = 5.
92 B | x weeks x days = (7x + x) days = 8x days.
93 D. Count the number of odd days from the year 2007 onwards to get the sum equal to 0 .

g - | odd day.

Year :2007 2008 2009 2010 2011 2012 2013 2014 2015 2016 2017 ~

Oddday121112111'21

Sum = 14 odddays = 0odd days.

- Calendar for the year 2018 will be the same as for the year 2007.

. A Angle traced by hour hand i m hrs = (3120 241) =157 ‘;‘o

Angle traced by min. hand in 15 min. = ( 60 X 15) =90°

chmred angle = (157 2) -90° =67 E

95. 4P 9.c_ [97.B [9s.D
99 ID. Let 2 =x. Then, 2* + 1) = (x + 1).

Let (x + 1) be completely divisible by the natural number N. Then, A
P+ D=+ 1=+ )=+ 1)(x -x + 1), which is completely divisible by
N, since (x + 1) is divisible by N. :
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100 A.

132=4x3x11

So, if the number divisible by all the three number 4, 3 and 11, then the number is
divisible by 132 also.

264 — 11,34 ())

396 — 11,34 ()

462 — 11,3 (X)

792 — 11,34 (/)

968 — 11,4 (X)

2178 - 11,3 (X)

5184 — 3,4 (X)

6336 > 11,34 (/)

Therefore the following numbers are divisible by 132 : 264,396, 792 and 6336.

.Required number of number =
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